Cupido

Input (entire) film: https://www.youtube.com/watch?v=Pe0jFDPHkzo

Textual summaries for the root of the context tree:

e Cupid is trying to make a couple get together.

e (1) Cupid misses Bill and Tina. He hits Tommy, who falls in love with himself. (2)
Tommy is not affected by Cupid's arrows and this causes Lauryn to make a
mistake

e Cupid successfully targets Bill and Tina with arrows making them fall in love, but
fails with Tommy and Rachel since he was distracted by a butterfly.

e Cupid shoots Bill and Tina and makes them fall in love but accidentally shot
Tommy twice where he then falls in love with himself.

Shot descriptions:

Shot Shot description Descriptive frame
number
0 Rachel is walking passed a sign that changes to

show the credits.

1 Cupid sit on a roof, sipping a drink.

2 Cupid sits on a roof drinking coffee as a scroll
floats down and bonks him on his head.

3 Cupid sits on a rooftop drinking coffee while his
scroll floats towards them. He then sees an image
depicting Bill and Tina, with a heart stamped in
between them

4 Cupid lets the Scroll float away.
5 From the top of a roof, Cupid flies away.
6 Cupid flies down above Tina who is sitting outside

reading a newspaper




7 Cupid floats above Bill and Tina, while aiming his
arrow towards them
8 Cupid shoots an arrow at both Bill and Tina in
front of a cafe. Tina and Bill turn around and
exchange smiles
9 Cupid glances down at Bill and Tina, while they
turn around to look at each other at the outdoor
cafe.
10 Cupid flying.
11 Cupid is hovering in the air above a building when
a glowing scroll floats down from above him. He
grabs the scroll, unravels it, and begins reading it.
12 Tommy is checking out his phone. Cupid is
looking around and notices Rachel walking by.
13 Cupid draws his bow and is about to hit Tommy
with an arrow.
14 Tommy is sitting on a bench looking at his phone
when Cupid strikes him with an arrow. He looks in
lust as Rachel walks by.
15 Cupid prepares his bow and arrow, when he is “
distracted by a beautiful blue butterfly. ! . v
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16 Cupid accidentally hit Tommy with two arrows!
17 Tommy sits on a bench in a haze, Cupid adjusts

his focus to Rachel.




18

Cupid tries to make Tommy look at Rachel, but
Tommy instead sees his own reflection.

19 Cupid shoots Tommy with love arrows. Tommy
falls in love with himself

20 Tommy watches his reflection adoringly as cupid
unsuccessfully attempts to remove the arrow from
his back

21 Cupid accidentally shoots Tommy with two arrows
instead of one and Rachel with the other.

22 Tommy sprays himself with perfume as Rachel
walks by. Cupid reacts in frustration.

23 Cupid chases after Tommy

24 Cupid flies down the street after Tommy to retrieve
his arrows out of Tommy's back.

25 Tommy is running around a street with Cupid
hanging on to the arrows in Tommy's back.
Tommy stops to check his reflection out in a
window.

26 Tommy see's himself in the mirror.

27 Tommy is dancing on stage as some tango music
plays.

28 Cupid is watching Tommy dance. He has two
arrows in his back.

29 Rachel begins to walk by in the background as the

unknown man Salsa dances. Cupid sees her and
tries to push the unknown man to dance with her.




30 Rachel walks by as Tommy spins in love.

31 Rachael walks down the street past rows of
houses as music plays. Tommy runs by her with
Cupid on his shoulders.

32 Tommy chases after a piece of paper as Cupid
rides his back. Cupid sticks an arrow with him and
then Tommy jumps off a ramp.

33 Tommy is falling through the air, with arrows is his
back and looking at himself in the mirror. Once he
reaches the ground, he sees Cupid

34 An upside down Tommy sees Cupid as Rachel
walks on some crazy ramp.

35 Tommy is walking on a path, and Cupid is chasing
after him, pulling on the arrows in Tommy's back.

36 Tommy is running along a path, and Cupid is
being carried along behind him.

37 Cupid seems frustrated as there is some crazy
lights around him.

38 Cupid tries to reach Tommy but he cant as
Tommy runs up steps.

39 Cupid tries to reach Rachel but cant.

40 Cupid is looking up the staircases and follows a
person into a magic mirror.

41 Tommy is about to jump off of a building.

42 Cupid saves Tommy from jumping off the bridge.
By doing this he pulls one of the arrows out of
Tommy's back.

43 Cupid is about to hit someone with an arrow, and
he's looking around to see who walks by

44 Lauryn walks sadly past Cupid. Cupid is about to
hit Lauryn with the arrow!

45 Cupid shoots Lauryn with an arrow. Lauryn

immediately stops walking and stares straight
ahead. Cupid seems pleased himself as he
stands beside scroll, but then realizes that nothing
will happen as the camera pans up to show both
Lauryn and a previously shot Bob(?) are not




looking at each other.

46 Scroll appears by Cupid, resulting him to pull out
his quill and secretly begin writing in it.

47 Cupid writes down in his scroll with a feathered
pen

48 Cupid glances at a picture of Tommy and Lauryn.

49 Cupid has shot Lauryn and Tommy who are

walking away from each other on a quiet Parisian
street. The arrows begin to do their work and the
pair are about to turn to face one another. Cupid
checks his scroll and celebrates another match
made.

50 Cupid is dancing because Tommy and Lauryn
seem to like each other. There's a clap of thunder
and a Scroll appears.

51 Cupid looks at his scroll with depicts Lauryn with
someone who is not Tommy

The list of shots ordered from least to most important:

[l18l, l29l, I5I’ l4l, l43l, l19l, l1l’ I44l’ I51I’ I49l’ I7l, l20l’ l23l’ l2l, l3l’ l36l’ I27l’ I38l’ I33l, l21l, Igl’
l6l, l28l, l1 1!, l42l, l8l, l12l, l32l, l47l, l45l’ l40l’ l26l’ l15l’ IOI, l37l, l13l, l34l, l35l, I22l, I24l, I46l,
'31', '48', '41', '50', '25', '39', '14', '30', 10", '16', "17']

Evaluations

Full movie summaries: (avg. len 102)

e After doing mundane task after task like making Bill and Tina fall in love, Cupid
becomes bored and easily distracted with his job. As hes assigned to bring
Tommy and Rachel together he becomes distracted and misfires hitting Tommy
twice. Tommy then falls in love with himself forcing Cupid on a wild chase to
correct his mistake. Even though when Cupid believes hes solved the problem by




making Lauryn fall for Tommy he instead receives a new assignment forcing him
to start a new chase all over again as Lauryn is meant to be with Bob. (96)

Cupid sits on his roof when a floating scroll comes up to him. He grabs it and
reads and sees two old people on it. He then flies off to find them, and shoots an
arrow at the old man (Bill) and the old lady (Tina). Then Cupid flies off. He
accidentally shoots Tommy twice with arrows. He falls in love with his own
reflection. Chaos ensues while Cupid works to take out the arrow from his back
and shoot it at someone else, like Rachel or Lauryn later causingeven more
issues. (92)

Cupid is having breakfast and is interrupted by a message from above that he
must use his arrows to make two people fall in love. He finishes he breakfast and
heads out to find the people. He finds them in a cafe. He shoots one and then the
other and the two turn to find each other and fall in love. Cupid gets another
message to bring two other people together. He shoots one arrow at the guy but
becomes distracted and he shoots the guy again. The guy sees his image in a
store window and falls in love with himself. The rest of the story is Cupid trying to
right what he did wrong. He finally does and brings the guy together with a
different girl. However he gets another message from above with the girl he just
coupled with another guy. (144)

Cupid was on the rooftop drinking a cup of coffee. He saw a floating scroll and
decided to open it. He saw Bob and Tina on the scroll. He shot a love arrow at
them. He saw Tommy and decided to shoot a love arrow at him. By accident, he
shot another love arrow at Tommy. He had meant to show an arrow at Rachel.
He chased around Tommy for miles trying to pull out the arrow. (77)

Cupid successfully brings together Bill and Tina. His next scroll-assignment tells
him to shoot his arrows into Tommy and Rachel. By accident Tommy gets shot
twice and falls in love with himself. Cupid gets the second arrow out of Tommy
and saves his life. Cupid shots the second arrow at Lauryn making Tommy and
Lauryn fall in love. Cupid understands later that he made another mistake,
becuase Lauryn is suppose to fall in love with Bob. (76)

Causality summaries: (avg. len 105)

Cupid is sitting on a roof, relaxing. Suddenly a scroll flights down to him, which
the doesnt want. He seems bored with those tasks. But the scrolls keeps coming
and he decided to act upon this last one. \r\nWhen trying to finish his job, he
shots a Tommy twice and he falls in love with himself. \r\nCupid tries to pull the
second arrow without success. Tommy becomes very in-tune with himself.
\r\n\r\nSecond act we see cupid still trying to pull the arrow from Tommy, but
Tommy seems more and more in love with himself to the point of almost killing



himself. \\nFinally cupid is able to pull the arrow out and shoots Lauryn, who was
not the intended target for Tommy.\r\n\r\nIn the end, cupid get a new scroll
instructing him to pair Lauryn with Bob. (145)

e In the city of love (Paris), Cupid is distracted in his work and accidentally makes
Tommy narcissistically fall in love with himself. Cupid struggles to get Tommy to
fall in love with Rachel. Failing that, Cupid gets Tommy to fall in love with Lauryn
instead. Unfortunately, Lauryn belongs with Bob, we learn! (52)

e While cupid is sitting and sipping a cup of coffee, he gets hit by a magical scroll,
but Cupid ignores the scroll and flies away, but the magical scroll follows him and
bumps him again. He (Cupid) reads the scroll and decides to shoot Tommy with
the arrow of love, he hits him, and next target is Rachel, but he gets distracted by
a butterfly and hits Tommy again. Cupid tries to find another arrow to fix the
error, by chasing a guy who he have shot twice. Ultimately he gets the arrow, but
saddened that the person who he gets the arrow off isn't happy as it is, he shoots
a passing girl, who happens to be Lauryn with the arrow. They seem happy, but
Cupid another scroll bumps into him, revealing that the girl he just shot, who is
Lauryn, with the love arrow is destined to be with another guy named Bob. (155)

e Cupid is sitting on a roof when a scroll comes down to him. Frustrated and sad
he pushes the scroll away. Seeing Tommy sitting on a bench he shoots him with
an arrow but gets distracted by a butterfly. Tommy then falls in love with himself
instead of the the female walking by because he saw himself in the mirror. Cupid
tries to take the arrow out of his back but fails. Cupid then continues to try to get
Tommy to fall in love with Rachel but fails. Cupid finally gets the arrow out of his
back and shoots Lauryn with an arrow and they fall in love. (108)

e Cupid makes a mistake while trying to hook up Tommy and Rachel causing
Tommy to fall in love with himself, after a lot of trying he is able to stop Tommy
from being in love with himself, but by that time Rachel is gone, so he makes him
fall in love with Lauryn, only to find out that she was meant to fall in love with
Bob. (67)

Summary comparisons

Full movie VS. causality graph:
Movie: 19
Causality: 31

Context tree VS. causality graph:
Context Tree: 5
Causality Graph: 15



